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S.2 MATH WORKSHEET THREE ANSWERS 
1. Simplify the following expressions 

(a)   
𝑚+1

2
+

𝑚−3

2
  

 
= 𝒎 − 𝟏 
 

(b)     
2𝑤+1

2
−

6𝑤−2

4
            

 

=
−𝒘 + 𝟐

𝟐
𝒐𝒓 

𝟐 − 𝒘

𝟐
 

 

(c)  
𝑦+6

5
+

2𝑦−5

15
 

 

=
𝟓𝒚 + 𝟏𝟑

𝟏𝟓
 

 

(d)   
5−2𝑛

4
+

3𝑝−1

2
  

 

=
𝟔𝒑 − 𝟐𝒏 + 𝟑

𝟒
 

 

(e) 
3𝑥+4

11
+

2𝑥

33
 

 

=
𝟏𝟏𝒙 + 𝟏𝟐

𝟑𝟑
 

(f) 
𝑣

2
−

𝑣+1

4
 

 

=
𝒗 − 𝟏

𝟒
 

 

(g) 𝑥 + 2𝑎 −
3𝑥−1

4
−

2𝑎

5
 

 

=
𝟓𝒙 + 𝟑𝟐𝒂 + 𝟓

𝟐𝟎
 

(h) 
𝑥−1

2
−

1

3
+

𝑥

3
 

 

=
𝟓

𝟔
(𝒙 − 𝟏) 

 

(i) 
4𝑎

7
+  

3𝑎+5

2
−

3(𝑎+2)

3
 

 

=
𝟐𝟖𝒂 + 𝟑𝟑

𝟏𝟒
 

(j) 
3𝑝

12
−  (

𝑝

2
−

𝑝

4
+

5𝑝

6
) 

 

= −
𝟓𝒑

𝟔
 

 
2. Solve the following equations 

(a)  
5𝑥+2

3
−  

7𝑥+2

5
= 2  

 

𝑥 = 6
1

2
 

(b)   
3

4
(2𝑎 + 1) =

5

6
(𝑎 + 5)  

 

𝑎 = 5
1

8
 

 

(c) 
𝑛−1

2
−  

𝑛−3

4
=

1

2
  

 
𝑛 = 1 

(d) 
2

2
−  

𝑥+1

4
=

𝑥

3
+ 2  

 

𝑥 = −2
1

7
 

(e) 
𝑛+1

2
−  

𝑛−3

4
=

𝑛+2

3
  

 
𝑛 = 7 

(f) 
4𝑝−1

3
−  

3𝑝−1

2
=

5−2𝑝

4
  

 

𝑝 = 3
1

4
 

 

(g)  
1

5
(𝑤 + 6) −

1

15
(2𝑤 − 5) =

1

3
(1 − 𝑤)  

 
𝑤 = −3 

(h) 
1

2
−  

𝑥

6
= −

5

2
 

 
𝑥 = 18 

(i) 
4𝑝−1

3
−  

3𝑝−1

2
= 1 

 
𝑝 = −5 

(j) 
𝑥+1

3
+  

𝑥−4

2
= 5 

 
𝑥 = 8 
 

END. 


